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df = data.frame(
  group = c("a", "b", "c"),
  value = rnorm(
    3000,
    mean = c(1, 2, 3), 
    sd = c(1, 1.5, 1)
  )
)

ggplot(df) +
  aes(
    y = group,
    x = value, 
    fill = stat(abs(x) < 1)
  ) +
  stat_halfeye() +
  scale_fill_manual(values = c("gray85", "skyblue"))

df = data.frame(
  group = c("a", "b", "c"),
  mean = c(1, 2, 3), 
  sd = c(1, 1.5, 1)
)

ggplot(df) +
  aes(
    y = group,
    xdist = dist_normal(mean, sd),
    fill = stat(abs(x) < 1)
  ) +
  stat_halfeye() +
  scale_fill_manual(values = c("gray85", "skyblue"))

������

�������������������� ��¢������������������

������������������
����� � ��¢�������������������


